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B A+ fEH 14z 2z 3z 4hr 5z 6fir ThL 84z
- A 52(3) w11.08 (+3.0)[FAR #(3) wi1.17 (+3.0)[H#f KERQ) wi1.22 (+3.0)|EE% ZEZNQ)  wil23 +BOIEHA EI@B)  wl1.58 (+3.0)|FEH HEHEO) wi1.61 (+3.0);=HE Z4EQ) w11.64 (+3.0)
S B o +BHEr-H B BT L +RaE-EH +RBE-FEH AT KF+ INFA-RINFASP ap: SNl
15 K3 22.98 (+0.2)[*P#4f KER3) 2317 (+0.2)[ LA HE(3) 2326 (+0.2)| % B|ZNEQ) 23.49 (+0.2)|/\F EH1(3) 23.90 (+0.2)[/I#k HEA(3) 2402 (+0.2)|1£fE [Ef2(3) 2415 (+0.2)| 2% HEQ) 24.22 (+0.2)
B o EAE KiH +BE-FEH +RBHET-FREH +RaET-FEH =% -TH® K- MAHP RfE- A K- nBRE$
EZ2 ARG 5322(E15 #3HQ) 53.83|{kik [EME() 55.53| REF #K(3) 55.76| 2% E#(3) 55.95(f&k HMQ) 56.06[F 1L —ilM2) 57.66|BATER EE3H(3) 1:03.78
Pzt oo RIS FAE KT - @ RE- X5 Rt PR MAE NG RE- X5 + 8- 2
, Ea kRAEG) 2:01.97|EE &Em2) 2:06.05| K8 FF(3) 2:06.85| =% FAQR) 2:09.51|7/KE ER(E3) 2:11.15[/hiE 3F(3) 2:11.68|4f 1L FTHE(Q) 2:11.73|BE8 K—EA(2) 2:11.99
et o + 8-+ B ErH + BB F&t K- HE + BEr- TS R Rtk =& -Hmk - EES RRE-RF
O ’RXEQ) 411.02|EE ZAB) 4:11.86| K1l #REE) 4:20.76| E+=E EE) 4:2410|EF —EEQ) 4:28.97|#1L fE(3) 4:29.31|7BE FA(2) 4:31.22|1E8 THE() 4:31.65
et o +BaHET-+BETH +BET-+ B ETH RE- R/ INFBHINFARS PRI -NBETH + BHET- KR +RHHE-TEH + BET-)IFEH
B& EIE®) 9:11.08| EF % A(3) 9:11.50| KJIl #AE(3) 9:17.26| E+ & JEEHQ) 9:28.49|#:E EHEQ) 9:31.16| BE EK(@3) 9:34.48|FE/ K X3 9:37.40|EFT —EE®3) 9:37.80
Pt o +BE-HEB +BH -+ B+ K- Rt INFBNTFRS - EESD +BH -+ BT+ - EES FAE - }<AErH
2R Q) wi14.75 (+3.9)[/h#k LK (3) wi15.16 (+3.9)| K BEE(2) w1517 (+3.9)|i@H 1h(3) w1551 (+3.9)[/NE] KEBKQB)  wi15.74 (+3.9)iEH ZEEQ) w15.90 (+3.9)| &3 FF0(3) w16.04 (+3.9)|Baftz EK(2) w16.06 (+3.9)
et ot KI#-fad K& X% EF BB m2ATP hnjz- fnys A kRPN =LY K- HEE P Rt-garh BAE-RIRS
+HET-EP 45.48|+BHHET-F B 45.70| K[ - ERH 4597|mAAE - ERH 46.11| K- B EH 46.62| K@ - FERE 46.82| Rt - T 47.03| R[S+ 47.11
£ RiDQ) ME BAQ) 1PN E)) Lt HREQ e &@G) AFH BELEQ) B BHEG) BH ZEEQ)
630K 4x100mR [EEEF BEZNQ) lx 5(3) NE BERE®G) HF #13) N BER(3) B EZOQ /T I(3) RE HEHEO)
BH FRE) K% Q) O E1EQ) B —#@2) Nt FEFEQR) ILE #RiEQR) [RE 1&E(3) BEH BEQ
AT KER(3) &R £ 2(3) s Eh3) g ZEeR2) EF HEEQ) &k EROG) E¥ E#HQ) thHET RA®)
651991 . £ IRAQ) 1.79[4LIR $RK () 1.70|ARH ZEMNE) 1.65i%0 BEFE(Q2) 1.65|FE 1DAERS) 1.60|EH FER) 1.60| =48 [E@3) 1.55|=#F KH®Q) 1.55
RHf-gaep INFA-RINFASF R -NBHETH KE-XN&EF [apbaAN =L +BET-FEH +RHET-#)Zzu R RERE(H)
. T iR BEQ) 3.90[fEmE RilM3) 3.70|%EE 1ETQ) 3.60[#JIl RIAQ) 350[{EAM 2 3.20[BTER ERAN(2) 3.10[&FB —ilM2) 2.80
+ BHET-JIIFES +BET-EH + BET-)IFEH + BET-)IFEH + BHET-JIFES +HHET-+HETH + BHET-JIIFES
. #ZiIL #h3) 6.17 (+1.2)/NEl KE ) 6.17 (+1.2)|3=f% MEEQ) 6.07 (+1.7)|HH BX@Q) 5.92 (+2.0)(AH K2 5.82 (+1.8)|tkk HAHQ) w5.80 (+2.8)[/ML #hik(3) 577 (+1.8)|f&IR #(2) 5.62 (+1.4)
et i FAT - ANAETH 2nd. 6.06 | AE-/<NHHETH 2nd. 6.00| B Rff- P& =&k +BET-JIfES + BT JIFES R -ER P +RET-#Z L
65130 . BH FRE) 12.37 (0.0)|f&R #(2) 11.84 (0.0)[EH HEAK() 11.79 (0QO)|EEAR B4() 11.79 (+0.3)| AR KF0(3) 11.73 (+0.1)[5=#E MEEQ) 11.56 (0.0)| &5 FHAREN3) 11.38 (0.0)[/ML #43K(3) 11.32 (0.0)
+BE-FEE +AET-#z il K- KEH +HE-HHEH - 12 RH-Feh =& -Hmf RRE-RF
651991 — O #HAEQ) 11.84|%f1L HEA(2) 11.83|5+ L EX(2) 11.32| £ HE®R) 10.77|%F 41 EARQ) 10.75|{E% {2(3) 10.50| A {=(3) 10.20[E8 #B2@) 10.11
AR ER+® + A HET- gt K- EREF Bk RH-FE R - & R BB K& INFBNFB P
6ria0n | s iR ERAB) 2154|i=mk BAEQR) 2086|ILE $HEQ) 2081|4787 £@3) 1953)i%:% {&(2) 1717|FEE BAE) 1697|531 157F0(3) 16908 EF(2) 1664
INFB-RIDNTFAH BT K+ K@ Em$ ) - B & o +BHET-JIFEH +RaE-h B RH-gEh KE-X&HF
6730 H 110mH 16.78 (0.0) 647 17.36 (-0.2) 587 17.10 (+0.6) 614 16.32 (+0.6) 697 17.16 (-0.2) 608 19.47 (+0.6) 392 17.02 (-0.2) 622 19.99 (-0.2) 350
65300 fia st 9.22 439 9.40 450 9.29 443 8.87 418 7.99 366 8.09 372 7.16 317 7.43 333
61301 £k 1.76 593 1.58 449 1.64 496 1.55 426 1.40 317 1.45 352 1.50 389 1.67 520
6H30H 400m 58.23 475 54.97 600 56.82 528 1:00.03 412 59.63 426 55.45 581 1:01.56 362 58.63 461

w (wind assist) : JBEE%E
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B A+ fEH 14z 2z 3z 4hr 5z 6fir (A 84z
£k TR w12.29 (+2.5)| 5818 R#k(3) w12.34 (+2.5)|# BA{E(®3) w1250 (+25)|R 5 BTEQ) w12.53 (+2.5)|5ERE ZEBK(3) w12.85 (+2.5)[JIl £ HiA(2) w12.91 (+25)[#&k 1L #Z(2) w12.91 (+2.5)|RH EFE(?2) w12.95 (+2.5)
i o K- @+ =& K R -fEF K- KBEH +BH-F&H - M8 ] +HE-HEHB RE-RF
EB TR 2554 (+0.2)| R & BTE®) 26.32 (+0.2)|)Il L HIA(2) 26.86 (+0.2)| 318 K4k(3) 2717 (+0.2)|fh EBEQ) 27.37 (+0.2)|AH &EmE(Q) 27.38 (+0.2)| RAI BHEO®) 27.55 (+0.2)| X HEF(2) 27.58 (+0.2)
praon o K- @+ K- K&H FfE - 1B o =& K INFBNFB P R -EF =& F— RS
1EBE HFH3) 2:21.02| K\ AREER) 2:2205|E5R HHYQ) 2:2250[ 1B E<B(3) 2:23.44|KHE K@) 2:2510|#AK /ME(3) 2:27.10(AREB FEA(2) 2:27.29|% H{NC3) 2:29.68
. i =& -TH® INFHINFAH INFBIDFAF INFA-EH FaE-H L + & -+ B ETH +RHET-hEH K& Em$
, HR HHUQ) 4:43.99/M Il FK(3) 4:46.10 P15 &<503) 448 11|l TR 44881(fE 1&&Q) 4:49.48|8K /NE®Q) 4:52.371EHE #H72H(3) 4:53.05|40 #&HRE3) 4:56.29
et o INFBINFBF INFB-IMNFBEH INFA-EH +RBHE-FEH KE-Z2E$ +BET-+BETH =% -TH® +RHE-HHEF
&Il #Z2) 14.88 (0.0)|HE ZEBK(3) 1523 (0.0)|18F EEO®) 15.77 (0.0)|#EE % Z(3) 16.04 (0.0)|HHE £Z0O) 16.20 (0.0)|#&EAKR F74(3) 16.25 (0.0)| 1588 E#k(3) 16.38 (0.0)|E+ & ZFHE®) 16.75 (0.0)
P oo +HEr-HHES R -FF RE- R RE- R RE-BEF +BHET-FEH SLBf- Rt R RE-AF
K& - 51.43(F&AB - EIRF 51.51| &M@ R+ 52.21| &M@ - LB 52.24| R H - FE 52.52(%B /A 52.56| K fE- KSH 52.90| K@ - m 58.04
gk FEQ niE HEQ) ¥ FFQ) IR THREE®R) I+E HEQ KR #F0) &I #@Q) &% EMER)
6H30H | 4x100mR |18 ti#E(2) & DE®R) & X%E@Q) 1wl uAY®@) HRE TER®G) &£ BIXEQ) &S B10O) #® BEEO)
F H®ine) " BEQ A S RN EFQ) A S0 U 6] BER tiEQ =H# BEEQD
1k TQ) A &) AE EFQ) £ RQ) HE =KE) KEF LDHE3) HEE EEQ) FE BIE2)
HwH EXRQ) 145\ % {6#2(2) 1455k E(2) 1.40 FE FNEQ) 1408 E&©Q 1.40[5LLL F#i(3) 1.40| & %£3%E@0) 1.40
6H300 - =& %% INFBNFBF =t ey RS FAR- KM+ RFE-FF RRE-RF
Bl BHE®) 1.40
RE-HEF
o & EEO) 527 (+0.8)|EH 3KHE(2) 502 (+0.5)|&FFH E#@Q) 487 (+1.7)|1kRE L#2) 4.85 (+1.2)/ ik T2 {£(3) 471 (HLD|E+E #HEEG) 469 (+1.1)|RE EH Q) 4.65 (+1.5)|FHL Z(@3) 462 (+1.2)
et e =& %% RE- XS+ FAE K+ - @+ K& IBH mA-HiRG SR Rt R + BET-FE
o500 . £ BR@M) 11.13|RE HEE) 1078|250 IBE(2) 9.29[EFH FH(2) 9.26| R /IMEBTH(3) 9.23[&R MEFQ) 8.95|A1E M) 8.91|Bs TMHEQ 8.70
+HBE-T&H +BH-F%&H K- #HE +BEr-HES BB E2HNH - EET @IS + BE -t
eroon | mrnsis HE EBEO) 2428| % {EHE(2) 2318|#f1L /NE(2) 2107[#8 <) 2048| K £XO) 2024|/NHK - F#(2) 1985| B+t ER@3) 1980|1E/H BER(3) 1912
RE-wH INFBINFB T =B AR NH RE-®F RE- XG5 hog-2Ech mAE ER+S
67290 100mH 15.28 (+1.3) 805 15.43 (+0.5) 786 15.77 (-0.2) 743 16.79 (+0.5) 620 16.93 (+1.1) 604 16.23 (+1.9) 686 17.31 (-0.2) 562 16.50 (+1.9) 654
65290 &k 1.41 523 1.44 555 1.30 409 1.35 460 1.35 460 1.35 460 1.38 491 1.25 359
67291 fi L% 8.25 416 7.03 337 7.08 340 6.80 322 8.12 407 5.98 270 7.28 353 8.05 403
67290 200m 27.34 (+2.0) 684 27.88 (+2.0) 640 28.20 (+2.0) 615  w 27.81 (+3.0) 646 29.02 (+2.0) 553 28.80 (+2.0) 569 28.73 (+2.0) 574 29.80 (+2.0) 496

w (wind assist) : JBEE%&




